2?35 IMEERF 18D FEH
(P &E3ARI04E821p2105F27%29p) 104.8. 13 {77 ¢ 3hid i6
104.9.2 2

SJAUEEBEEE TN
| Eﬁ—}l_lﬁp%%é%}‘ﬁ&;gi‘}iwm:&iiﬁ [—’fﬁ ZIEg»J—}gi j@%fTﬁry‘B’*"’ﬁ)%

FI3P 1035 EREH B HAF L 3 P d B
(7147 g3 25 abomii L1200 ey FRRERL 2 6%
[(#13-19p g3+ Fnce amayh . e e s -
. N 21p w84 3 = Mg (13:30

S R R AR 0 Lo Eiﬁr%zﬁwwﬁiﬁéig% P00
(i) dp oy osofeee [) 280 #4 fit € 3 u900>

o 101111121130 14 l15 [;x]6p «57“5/,,\@\%;:1‘,, (] 28p Hi-%EmT ¢(13:30)
[4)13 0 Frcg 47+ = 10:00 [x]31p %%« Lrkipdcs %8 &h
[#)150p g*%ﬁi BETLG EE L FREE [%)31p - &Enppicdf A

p ) ‘ o e

16| 17 |18 |19 20| 21 22 | 54 18_19ﬁq T [%13lp BEp (2 =5mp > TEpEd)
o ae g e CIEEE I ST R N
('] 19-20p f%_&r%#%— (9131 p =g adirrn 4 %

23 | 24 | 25| 26 |27/ 28 |29 E‘{g;gﬂﬁ fg;  FLAF 3 [']3lp Bgsa
A PRTAL BB 4 4% E e E:

1 (30 | 31
[®)1p= &% [(2£]16p B7E P IEHA)
1 11213415 (- £8374 ;gﬁgﬁ%ﬁﬁm#j%) [2'] 16 7 Hg

() 1ptedhe S
B AR (~10/31+

®

)
IPRT i 4 | ¢ FHOB 4 238 ¢ (62th)

a3

r (g

[?] 17p g% e }%f}_ﬂfﬂ SAr

(1) (21187 (L25) W35 P TR
3 |13 14 |15/ 16|17[ 18 |19 | LT A LARH Sy " . H—*f]ZlBijz»giz ngﬁ
4Y 2 ¥ i ‘g‘-‘f’\ F L
(.:.])-'ﬁv‘ *@L%«% [3122H|?§
(31120 i 6% (31220 2 81042 & 1% % Al B 247 o
4 120) 21 |22)23|24] 25 | 96| D99, 5o bR E 7 (%% P §
(2120 ia}&ﬁﬁiﬁ?&(%‘% 67&) [%] 23 p %& 350 ¢ (14:00)(%)
5 127198 [ 291 30 [?] 2p éjiﬁ $9% E'T%Jfﬁvﬁ.)ﬁt—ﬁ [2'] 23 p ITg
(#]12P Rz BF FREL5R0E) (i) 23 p ALBE# (1)
(#1297 g (3] 250 Fmmiths §F ¢ RTERYHEFT §
L p ity A (L3 13:00) (#1240 32 ¥7 00 50id it
O HEE T 4] 247 32l 2 1€ § R (H)
[%)89p %8 z=% 2=ty [#] 55%0f i wiriplmE ™ 7Y
(7 5% - 85 4e) (%) 26-2Tp 104 B % % ® S8 R¥ph L3 8
Eﬁ}gﬂ?iﬁ%lmiﬁg W AR A B RV Y
#19p 3L [i#] 26 p 2 its o ()
[#])9p g; AEFHLILES AAL [~)28p @ #&aE]l %
[(#)9p FEf BT FhLIzE (1) 29 prosd sk FB4(F- ~ o)
BEFBEH - T ad
[#] 9w¢% 4 () [+130p s2¢

(K] pHepzBE- o PREFT ¢ (7] 30 p LR E#(2)
(#YllpHaPridf g

[#] 14 p FRIELD 3%

[#] 14-18 p B v 7 %%

(%] 15-1Tp $#Pv %

[3) 15 0 4cb a8 ] 2% - = ¢ 3% (12:10)(%)




\i’}fﬁﬂp—:i\ziv‘. ¥ £ = x
[#] fsé%%@?:‘%’; (3] 19 p = 58 &
L1213 | () jiekc7 B2 bxTz g (5120-22 7 "Fab Tr Truck 3D 7 R Rl R
(4] f&%*l“‘a‘ﬁ,ﬁv\‘fi%“ [#£]20p 24 ¢4
6 lals lol1lalolgg|H]szimaims (1121 porg
[2)10 ¢+ 3£ b FES Roinkn (]2l i@_ ""3"’(3), .
[#]ZE%F“'ﬂﬁﬁ%@lﬁﬁuﬂgg(%) [i(] 22~23 E]—\;ﬁ%l‘ “:KJW—%‘?‘E’J i )
71 5] 16 | 17| [7d 30 1048 & 5k 4+ ¢ [Z1220 dea g Rmerh R e
(#’]53‘.,1'%'1?#'%1 1?@;}9%(%&) [?I] 235’*“‘?1%%"’ A’%?{?FI g \‘ag
[ ]651”1}’:§§F (:x)24p B9 ZF 8 P&y - 43
8 |18] 19|20 21 (22|23 |24 E#f}zﬂﬁﬁ;ﬁaifﬁ%&%&lﬂ”(%‘r) (3] 24 P 5% a7 7E Bk €
o 2 p 31 ; il &4ty
[3'17 5 %65 ¢ 3% EE ?g_iufi _’%"ﬁ%f?@ -
AR AP E N O MEIREE] EE ST S AN s pELH
fie #1285 i [#])26p Fix g”;{“%,ﬁ 3 gﬁ;
(19 PRAEPHELR [%glzwsﬁag%%%
[4] 5788575838 417 (] 28 0 & wmlrice &
(#1138 p 225 i (#1287 Bonsl - AT 4 Fhf - 303§ kI 30
[®])12-14p %- & () 31pisthe SHTHELFTHELES - K3
(') 12p EFmy 424 FREER L
[#]) 17 p R, a‘.;ﬁjéﬁv(%‘r) (8] 31p AT BV Y
[®] 170 T By ? [(R)31p ¢ &2 gebifd i@t F80 ()
(#] 5811 8- ~B=1 a\-if%ﬁ*#%
(o] 2R3 Bz & (R 150 ¢ &4 b ]ine Biv Fa 0 ()
W0 P12 03 140516 1T [y 59-11 sramupy st COREET;
R i AL A i Kol
11 8] 9 [10]11]12] 13 | 14| (I 4p e g3 wig g [R1197 ¥ &5 R #4587 IR
N () 40 #ok%T RKiFri = § [#])23-27Tp Hkz Ei¥
— {;”l]4ﬂf—£€ ’ [f ]249#5',0-/‘."
12 [15] 16 [17] 18 19|20 [21 | [3'14p %5 ¢ [&]24p 13§
[-")4p+FRE% [a"]25ﬂf£§ ‘
) [%)5-6p 53 %= <HEY [#] 25 ke Fid
13 22|23 | 24|25 |26| 27 |28 | [F])5F ¢+ A £ ar5 51y d iz Enj} 25 B R W~ s F )
(]88 2 Rti b L5355 rls (4 2 ) F128-200 TraMfE "t © Stk LLTRITE)
(4] 10 B 3¢ 42.(8) (#1300 fhis  RER ¥ 4
14 129 30 [#] 11 pEHEHFT
(48] 12-13 p @ f ¢
[(#]11-3p 2RF FHEEF (%] 16-17p %% %= i3S
I 5 [®])24p %-=x57 ('] 16 psrg
[#])3p BF xirif i =y (116 p AL® 8 (5)
15 |6 7|8|9]10]1n|12|0#] %1518 &- HapFigE [#)17p g3 257 Bridd i
[ ]8Bm}1€§ﬁ [%]21-22p BB % - R Y
(2] 9P 5580 [%])21-25pz %Mu-iww i
16 |13 14 (1516|1718 |19 | (&) 9P 104(F )% - ~ = & & [f]Zl 25‘£1;5~ 7R 3E
- Hle i B § 2 e BiE TR E 4 Eu,} gg g;z £ 3
25l 3 \‘zJ L
17 (20| 21 |22(93 |94 95 | 26 E;"%gggﬁgﬁ [4:) 23 pALBE 8 (6)
’3 COREE EREX Ei} Sé Bﬁie;%?%f%f;wémm
= ESN W 73 Tk 4 2n te i F p 2P H R ,ﬂf:"
18 |27] 28 |29 | 30 |31 (71107 §3* 2% % s sifd izt BI05E A AT AR P EGARLA ¢

[:x) 12p 3¢ B84 RS- 3R
[5]12-13p 2%t o stg (TR Te)
[k] $163 % - T¥R 3

(] 14 pro=fzgsk #(F- ~F-)
[#]16p 2 REFER LY

[B])16p mTEXEFLE

[#)25p 2
(%)

[£]28p it g TR Y &4
[+']130psrg
(4] 30 p AB=E

¥ 2

b

|+
w
b




\ﬁ—f‘gﬂﬂ—:g\ziﬁ ¢ 2 .
(7] 5~ g A¥FnEriyns [#%]18~20p %%
11]2 [&‘]lp;u/_\i’%i:ffw;il% [2'] 20 p k%5
[#] g7z g [#120 P+ %= 10:00 7y
(] 5193 % £ 7 5848 47 (420 p 7= 13:10 3 % }oib ¢ 3
4 2 o - 5 0B oL £ o~ ) i i
" AN Eil}gg?i;;w@a [#] 210 F&E 4
ST o [#)200 38 40 APP B R P32 9§
Y560 %2 (W
— | 20 |10] 11 |12]13 14|15 |16 Ei}g;}f@f@ﬁ) [#)210 3 SReRFAFY Y ()
[2']6p5¢ [:1] 22-23p « 8 |
[2)77 ¢ 2% HEFHS Ridn (5] 25-29p & i F3(4)
, |2t T 21|22 |23 (5] 87 % 2z BH AKERPT ¢ (:x]25p 48~ 82
[#]8-13p ;05:: BRaRAfapEaphete | [9]25-29 pisra = £3n ()
F L [:x)28p 2% 44 2 H
22 124125 26| 27|28 29 |30 [y 11120 R 35 g A | [ ]30 5 2/120 5p
[#)13p £m2fxEsy- SHH4 [EP £ 3%
[7"113prrg
al [3#] 150 FRITHAS &
Clalslalsle E?’fglm'a;; . (4] 16-22p &t Ak
%110 p % 5% o s
E&gw—lmjéﬁfaﬁp E,Hzg fﬁ;g‘i
LS SMMCEE S BT f i AP
1 718 | 9|10]11]12 (18] 2] 15E’€;‘” g [2)17¢p :%ﬁ[ﬂf\?«ﬁ#(%6*7aﬂ)
. e e , [']20p #2041/ §(12:30-13:10)
i )15 P v ST RETHESS (5] 20 0 # 2/12 1 it
2 14|15 16| 17|18] 19 | 20 (),]15f;§§,'fj%;;‘f;ii“”o” (4] 22-26p sussises §
TS AR [']24p 5i¢
’ (2115199 %% feme [+)29p 22841 =
3 21|22 | 23|24 (25|26 |27 | (%] 18-19 7 &5 = =i
4 28] 29

e (3] %% e [r] i s
(#]1 %% e (W] HEZ -

k] sosie s [#F] Face ()7 e (2] 2 e (] 8y e [R] 2BEs e [§F] Gl e
(&) @i (4] 33 (3R] 7&E 4 -

¥ 2

b

|+
w
b




